20331-10 HRHKLAIMN AN EM S ELH

7= miiEA

ME

48 %I E A A B4R

8l AR R B B

WM SIS @B,
WHELRERL AT 5,
WELRBRLATIRS

I

Z B REMARECENEETBEE,
2 @ARELA R HAEE,

2 BRI N FIT AL T2 () B M S B0 RE

B

ZERIENHNT , BERKRLIT, AAXE., ERMAKEEHI B
RO EE  BERNERNETEMNSH. ZSOREEMEAQL
R AW S |, RERE  HABIHNAKEYERERZENZITEHRE.

= = =

—

for electrics EETTER, BENEMBENEERBESEEEER, TR
BEHE R
s — - [ )R FATRAAESH 1SO 7 WEERRLIL | M T RRLITRS K

EER, ARBERIEHRNBEST TR EM PN EERM4EZ R
DR E A5 RE,

Fz
‘ " BEBMOAEE | B EERS R RER N HEE NS REEHE
OHME R,

BENNEMREEERIANFANECL. FRARIMNHVELCK
20240 , AR NN ECERGERREERE L,

BEMNREEE R (FHEBAEEEL DIN 3405D ) , ATEMER

%t\ My‘\w RERLATHS .,

Fx~ AR GBI
BE : KB
BRSH :
AEARER TS A,

RPLEHNFEISHENEREONERE, RERRE2RY. B2
RBBRTHEABRNAENZSME, BURER K fs=5,

BESER
0°C Z +60 °C.

REFEXK :

HtpKE ( RAKENZATESARE ) o
RIRLIINEF RS 1SO 5 trifo

© norelem www.norelem.com



20331-10 HRHKLAIMN AN EM S ELH

62
A 3% .3 .3 ™ & M4x10 46
Ay = (4%)
== ! D77 - o} | |
1 "l ™ \
A ]
S Lz - 028 H7 =25
32 L 335 =
B 1
25 100 S 25 S
10,75 o (A Y
DIN 913 M3 | | M4 t=8 (8x) o o] i
= 200
S|
= g
+ o
]
3
]
135 . 04 H7 t=8 N e
o i [P 135 (4x) 7
13,5 - a
—-——L— 2’5
95 |
® 10,75 A
DIN 913 M3,  M4x8 (4%) B
g \ /
NS :3‘ 6
S 1Y
| ‘ 0
10,75_ 04 H7x8 (2%) !
135_| 13,5

© norelem www.norelem.com



20331-10 HRHKLAIMN AN EM S ELH

@ 46

39 39 &
h | Fany ))
+-—-4 1 L/ l
A 3\
e L2
5 L 54 M6x10 (4%)
255 124 S 255 B 1
32 12 B
1
M~ 8 S—?l t?; (1 )
= i . d i
= | —
| 39 | 46 _| 39 d  pwse2: 25
| 45 57 25 . T M25 A
= 45 ] 5
B I
msx13_~ /1_1]165 45 \ 05H7 . —
(8%) 15 15 ke t=13(4x) S 7
DIN 913 13 el
DIN562 —wm 5
M5 5
® 39
12, | A-A
S / 9B
|
] I 3
‘_D DIN 913 M3 c
- FOR B\ B T, O a
<0
! 3 110 N
AR y

M5x13 (4x)/ 6 ~gs 7
1505, =132y

© norelem www.norelem.com



20331-10 IR LATH) PN EL 4 S50 1 B 45 3

@ 106

49 51, 49 ‘§ 70

Y H\ é_ %?

yE— o | ¢ P S
: It v - &
P L2 40 |
435 L 45 Moz 028 H7
: (4x) =25
30,5 149 S 30,5 y
44 B i ~
/’ \ o
~| M v
w
= ' |
S| / |
< ‘*--d_
5 by - DIN562-
1 M25 |35
1y [~ ][] (= ;28
i 12/(3) |9 “DIN9I3M3 V6 HT7 -
X1Z(3%) 11818| iglig| =12 (4x)
Loy ™
el J g1
A
3
® 49 DING62-—=1=-
M5 el Ol
| y
T
=
X0 L e e
e 65 ",
. —l---l-’—
o el
) Vi DIN 913 M3
A 9 | \g6 H7
MEx12__[iglig]  t=12(2)
(4x)
20331-10-1090120570X100 A [SEN 90 |185 750 0,3 5000 4620 | 100% 5000 2000 4540 13,6| 102,6
20331-10-1090121070X100 A [EEN 90 (185 750 0,3 3800 4620 | 100% 2540 2000 4540 13,6| 102,6
20331-10-1110160570X100 A B |110[190 1500 0,63 | 13150 19800 | 100% 8700 4670 9390 29,1 196
20331-10-1110161070X100 A =& [110/190 1500 0,63 11550 19800 | 100% 6730 4670 9390 29,1 196
20331-10-1110161670X100 A ®EFX [110[190 1500 0,63 8170 19800 | 100% 4200 4670 9390 29,1 196
20331-10-1145200570X100 A "/ [145/210 1800 1,19 14800 34200 | 100% 14800 8930 15320 85,3 | 682,3
20331-10-1145201070X100 A [SE 145|210 1800 1,19 15900 34200 | 100% 13850 8930 15320 85,3 | 682,3
20331-10-1145202070X100 A "M |145(/210 1800 1,19 | 16250 | 34200 | 100% 6930 8930 15320 85,3 | 682,3
20331-10-1145205070X100 A B (1451210 1800 1,19 13000 34200 | 100% 2770 8930 15320 85,3 | 682,3
20331-10-2090120570X100 B * 90 [250 750 0,5 5000 9240 | 100% 5000 3990 9090 13,6| 102,6
20331-10-2090121070X100 B * 90 [250 750 0,5 3800 9240 | 100% 2540 3990 9090 13,6| 102,6
20331-10-2110160570X100 B * 110|275 1500 1,36 13150 39600 | 100% 8700 13080 18800 29,1 196
20331-10-2110161070X100 B * 110|275 1500 1,36 | 11550 | 39600 | 100% 6730 13080 18800 29,1 196

© norelem www.norelem.com



20331-10 IR LATH) PN EL 4 S50 1 B 45 3

20331-10-2110161670X100 110|275 1500 1,36| 8170 39600 | 100% 4200 13080 18800 29,1 196

20331-10-2145200570X100 145310 1800 2,61 | 14800 | 68400 | 100% 14800 17870 30680 85,3 | 682,3

20331-10-2145201070X100 145|310 1800 2,61| 15900 | 68400 | 100% 13850 17870 30680 85,3 | 6823

20331-10-2145202070X100 145|310 1800 2,61| 16250 | 68400 | 100% 6930 17870 30680 85,3 | 6823

w| w| ®| ® ®
7| | 7| A A

20331-10-2145205070X100 145|310 1800 2,61| 13000 | 68400 | 100% 2770 17870 30680 85,3 | 6823

20331-10-1090120570X100 A| EXR |90 12x5 0,08 0,54 125 17 34 |100| 665 30
20331-10-1090121070X100 A ‘& | 90 12x10 0,09 0,66 125 17 34 |100| 665 30
20331-10-1110160570X100 A Em® |10 16x5 0,17 1,24 650 | 118 | 235 |100| 1410 40
20331-10-1110161070X100 A | ®=® [110] 16X10 0,18 1,48 650 | 118 | 235 | 100| 1410 40
20331-10-1110161670X100 A =& | 110| 16X16 0,23 1,98 650 | 118 | 235 |100| 1410 40
20331-10-1145200570X100 A| ER |145 20X5 0,3 4,42 1500 | 260 | 520 | 100| 1690 55
20331-10-1145201070X100 A =™ [ 145] 20X10 0,32 4,87 1500 | 260 | 520 | 100| 1690 55
20331-10-1145202070X100 A | | 145| 20X20 0,45 6,68 1500 | 260 | 520 |100| 1690 55
20331-10-1145205070X100 A | =R |[145] 20X50 0,8 19,34 1500 | 260 | 520 | 100| 1960 55
20331-10-2090120570X100 B ® 90 12x5 0,08 0,66 250 | 300 | 300 [100| 600 30
20331-10-2090121070X100 B S 90 12x10 0,09 0,86 250 | 300 | 300 |100| 600 30
20331-10-2110160570X100 B ® 110 16x5 0,17 1,78 1305 | 1680 | 1680 | 100 | 1325 40
20331-10-2110161070X100 B ® 110 | 16X10 0,18 2,29 1305 | 1680 | 1680 | 100 | 1325 40
20331-10-2110161670X100 B ® 110 | 16X16 0,23 3,37 1305 | 1680 | 1680 | 100 | 1325 40
20331-10-2145200570X100 B ® 145 20X5 0,3 5,9 3005 | 3420 | 3420 | 100 | 1590 55
20331-10-2145201070X100 B S 145 | 20X10 0,32 6,88 3005 | 3420 | 3420 | 100 | 1590 55
20331-10-2145202070X100 B ® 145 | 20X20 0,45 10,85 3005 | 3420 | 3420 | 100 | 1590 55
20331-10-2145205070X100 B ® 145 | 20X50 0,8 38,62 3005 | 3420 | 3420 | 100 | 1590 55
20331-10-1090120570X100 A FSEN 90 5 +0,02 5800 4,4 20 0,49
20331-10-1090121070X100 A FSEN 90 10 +0,02 5800 4,5 20 0,97
20331-10-1110160570X100 A "X | 110 5 +0,02 4200 7,7 20 0,35
20331-10-1110161070X100 A =% | 110 10 +0,02 4200 11,9 20 0,7
20331-10-1110161670X100 A =& | 110 16 +0,02 4200 11,9 20 1,12
20331-10-1145200570X100 A =R | 145 5 +0,02 3300 13 20 0,28
20331-10-1145201070X100 A =™ | 145 10 +0,02 3300 24,5 20 0,55
20331-10-1145202070X100 A "/R | 145 20 +0,02 3300 24,5 20 1,1
20331-10-1145205070X100 A =™ | 145 50 +0,02 3000 24,5 20 2,5
20331-10-2090120570X100 B ES 90 5 +0,02 5800 4,4 20 0,49
20331-10-2090121070X100 B ® 90 10 +0,02 5800 4,5 20 0,97
20331-10-2110160570X100 B S 110 5 +0,02 4200 7,7 20 0,35
20331-10-2110161070X100 B ES 110 10 +0,02 4200 11,9 20 0,7
20331-10-2110161670X100 B LS 110 16 +0,02 4200 11,9 20 1,12
20331-10-2145200570X100 B LS 145 5 +0,02 3300 13 20 0,28
20331-10-2145201070X100 B ES 145 10 +0,02 3300 24,5 20 0,55
20331-10-2145202070X100 B S 145 20 +0,02 3300 24,5 20 1,1
20331-10-2145205070X100 B ES 145 50 +0,02 3000 24,5 20 2,5

© norelem www.norelem.com




